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1. S AR Rotrepf} e finm 1x8=8
Answer the following as directed :
(@) <51 VIR FEH Q = f(PR I SFTHI TRAS
SfaR v fefemerrel e S@eor fasi |

For a given demand function O = it
write the formula of calculating price
elasticity of demand using the technique
of differentiation.

£,
B} b =

(c) TR SRNFINO BVE @ /7 &40 :

State whether the following equation is
True or False :

[[rdax=—[flxdx
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(2)

150}
(d A= 202 9ol
"1 O
A= i
0 1 is a/an

() St @GF / scalar matrix w
(@) 39 @%® / diagonal matrix
(i) 93 ¥ / identity matrix
(tv) S°[I A1 / All of the above
(om Teco! iR Sferean)

1
(Choose the correct answer) 1

(€) lim 10 -6x + x23 I txrz

x—2

The value of lirr{?10—6x+x2 is ‘
(110 (i) 2
4

(i) S (iv) O |
(o Teao! AR Tferean) 1

(Choose the correct answer)

|
|
() Iz TS A m Fe wF =S B n ‘

RIIF TAME  ACF, (OrF  B(OFTT [FIEG
TFie @R A 2

|
How many numbers of ordered pairs will 1
be there for two sets A and B having m |
and n numbers of elements respectively?
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(3)

(9) WWW@%WW%{W?

What does second-order _diffgrentiation
of the total cost function indicate?

(h) 3x3waﬁ1ﬂwﬁﬁ6cﬂﬁquﬁml

Give example of a 3x3 symmetrical
matrix.

2. oo R e fofer ap Ted forsi
Answer any three of the following questions :

(@) Wwﬁmqﬁw%{m?wﬁfiﬂwﬁ
e qor (g foram |
What do you understand by continu.ity
of a function? Write any two properties
of continuous function.

(b) TRy o= o |

Write the properties of determinant.

4x3=12

(c) T Y WE AT I AT AAE TP
TS (T |

Show the relation between average cost
and marginal cost with the help of
differentiation. |

(@) Fifve SReme SAfes dr TACE o
G o= o
Write a note about economic application
of definite integral.
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(e) =fowwm ~mafe TaTd IR
Poprviah
(x+2)2

T fReRe 40
Using the rule of substitution,
dx

find

Iu+m2

3. e B TS (a) T2 Fo, (b) ARTTT T AE
(c) &% T R for | 3+3+2=8
Write about (a) polynomial function,

‘ (b) rational function and (c) constant function
using appropriate diagram.

21/ Or

fran =mez (given)
\ A=1{1234}, B={246,8} and C={3,4,56}

e @ ewe wEHE (o) e f,

(b) o) Rt =% (¢) & s RfE T 57 |
3+3+2=8

Prove that the above sets satisfy (a) associate
law, (b) distributive law and (c¢) De Morgan’s
law.

4. (@ () @ 96 @GR afowm ElEEe ERE
IR A@EAE 5O o7 | 2
| Write the necessary condition for
| existence of inverse of a matrix.
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(1)

(it))

(b) (1)

(@)

(@ @
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(5)

‘Tﬁ@ﬁﬂ/\{i;]ma@’!

ot
B=%[4 2], cryea @@ A = B.

281
3

3 ~-1 R
B=l[_4 2], show that A™! =B.

3 2 W=D
A= &
[1 2]WB [_1 s]m’@wi%ﬁ
I A9 I @ AB = BA.

Prove that AB = BA for the matrices

PRIl 2 -2
a1 22 b ol T
=<1/ Or

@G3R @FOR 4R TS Tz R
SCERDRIN

Analyze the concept of rank of a
matrix with appropriate example.

@ Y ImE IR TR AR
STOTAPATCIRD] S F41 -

Solve the following linear
simultaneous equations  using

Cramer’s rule :
2x+3y =10, 3x+8y =20

If matrix A= and matrix

SFHSE TS 51G I (AR), AfFF S
(MR) == 13w e (e,,) 3 1%
=R 4 |
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(i1)

(b) (i)

(6)

Derive the relation between average
revenue (AR), marginal revenue (MR)
and elasticity of demand (e,) with
the help of differentiation.

frar wce @B1 @ WA P =100 -20Q,
Q=10 @@ s@Ere HfErE [Efegeme
ST 4T | FSICS GO AP(S =90 T34

fomm 3+1=4

Given a price equation P =100 -2Q,
find elasticity of demand when

Q =10. Also comment on the nature
of the commaodity.

Se<T/Or
o omer. 9G1 3o T T
TC =10000 +100Q —10Q2 +%<23

AT I T 91 RISl T S @
Teofmg B Q fAdier 1 |
Given the total cost function

TC = 10000 +100Q — 1002 +%Q3
Find the level of output Q where

marginal cost is equal to average
variable cost.

(i) T R 9ol Teeslel T

P25/1547

5000
3+Y

oE Y =97 QR SHE© AfeF el

sgorel (MPC) €= <11 Fsts wmE

sfRqés ACACF MPCI RIS e

C=1000%

Sferea | Stl=4
( Continued )
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(7)

Given the consumption function

C =1000 - 2099

3+Y
Find marginal propensity to
consume (MPC) when income
Y =97. Also find the direction of
change in MPC with change In ‘
|

income.
6. (a) SFFAHR q9 o@Efs qEIE IR oo fHEICOH
RAEISICIG T B 8

Evaluate the following using integration
by parts method :
f xlog xdx

<1/ Or s
(b) faa =ee e S 2=l MPS=1—Ty—"I’6

wmﬁzﬁWum@@mmWﬁWq
41 | 99, faan Sier @ S 144 (1 SKEO
AT 6 X0 = | 8

Given the marginal propensity to save

function MPS = 1—0—2 where y denotes

Vy

income, find the aggregate saving
function. It is also given that aggregate
saving is zero when income is 144.

7. (@) () T sz vifdw o= Q=50-2P, W
P =20 ({1 SRES Tocere Tge Sl
90 1 4

Given the demand function
Q=50-2P, find consumer’s
surplus when price is 20.
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(i1)

(b) @

(i7)

P25—5500/1547

(8)

fom wcE Q@ e Q0=-3+2P. M
P=6mmwm3<mm@?mﬂw
341 |

Given the supply
Q = -3 +2P, find producer’s surplus

function

when price is 6.

weqr/Or

foret w1CE AR S ¥ MR =20 - Q, (R
T 103 @1 20 &1 3 T P S

offdqd f[efg 90
Given the marginal  revenue

function MR =20-0, find out the
change in total revenue when Q

increases from 10 to 20.

A ==

o y @ o o PR | A 1443 #fF1
256 %o I T AT ToCSI ARTST
fQefy 41 1

Given MPC = %’ where y denotes

income, find the change in aggregate
consumption, when income changes

from 144 to 256.

* % %k
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